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1.
In the hydrogen atom, how much energy is required to remove one mole of electrons from the n = 4,000 energy level?  This is observed in distant stars!  What is the frequency of this EM?  What is the wavelength of this EM?

2.
How much energy is released from one mole of electrons when they relax from

n = 5 to n = 2?  What is the wavelength and color of this emission?

3.
Which of the following sets of quantum numbers is INCORRECT?  Explain.  Sketch and label the orbital associated with each correct set of quantum numbers.


(A)
n = 1, l = 0, ml = 0, ms = +½.


(B)
n = 1, l = 1, ml = 0, ms = +½.


(C)
n = 2, l = 0, ml = 0, ms = +½.


(D)
n = 2, l = 1, ml = 0, ms = +½.


(E)
n = 2, l = 1, ml = -1, ms = -½.

4.
What is the difference between a 2s and a 3s orbital?

5.
A hydrogen atom with the electron in its ground state, that is the lowest possible energy state, has the electron in:


(A)
a 3d orbital.


(B)
a 1s orbital.


(C)
a 2p orbital.


(D)
a 2s orbital.


(E)
a 3s orbital.

6.
[Review]

Give formulas for the following compounds:

a) calcium sulfide
________________________

b) lithium nitrite
________________________

Give names for the following formulas:

a) Al2S3

________________________

b) N2O3

________________________

c) K2SO4

________________________

Give names and formula for three molecules.

Give names and formula for three ionic compounds.
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has _____ protons, _____ neutrons, and ____ electrons.

Which of the following are isotopes?


(a)
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(b) 
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(c) 
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(d)
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